Footrest and Legrest Accessories

Quantity Per
Iltem
Number | Note | Part Number |Description Package | Assembly
Gl 1026987 Guard, Impact (8" L) 1 1
G,H 1143050 Non-Removable Device, Footrest/Legrest (1820) 1 1
NLA - Non-Removable Device, Footrest-Legrest 1 1
Carton 1 1
1032002 Strap, "H" Heel 1 1
1035902 Strap, Calf w/ Hook and Loop (31" L) 1 1
A,B,C |8881006725-NL | NLA - Panel, Legrest 1 1
A
AB,D | 8881006726 Panel, Legrest 1 1
A,B,E |8881006727-NL | nla - Panel, Legrest 1 1
A
A,C,F |8881035816-NL | NLA - Panel, Legrest 1 1
A
A,D,F |8881035817-NL | NLA - Panel, Legrest 1 1
A
A,E,F |8881035818-NL | NLA - Panel, Legrest 1 1
A
G See Chart Heel Loops and Attaching Hardware 1 1
G See Chart Heel Loop Attaching Hardware 1 1
G See Chart Toe Loops and Attaching Hardware 1 1
G See Chart Toe Loop Attaching Hardware 1 1
NOTE: A - Specify color when ordering. See page titled, "Frame Finishes, Touch-Up Paint and Upholstery Options."
B - PWO3E.
C - 16" Wide.
D - 18" Wide.
E - 20" Wide.
F - P904A and PAL4A.
G - Not Shown.
H - Includes items Device, Non-Removable and Carton.
| - For 70 deg. Tapered Footrest.
Heel Loops and Attaching Hardware
Heel Loop w/ | Heel Loop w/ | Heel Loop w/ Attaching
Fo1c_) th:te Hgiil ,ngp He;;ilr_(;op Ankle Strap Ankle Strap Ankle Strap Hardware
yp 9 Single # Rt. Single # Lt. Pair # Pair #
Composite
(1651)
Small 1028412-NLA | 1035912-NLA | 1035908-NLA | 1035909-NLA 1035906 1035931
16" Wide
Tapered
Composite
(1651)
Medium
16" Wide 1017621 1035917-NLA 1035919 1035920 1035906 1035931
(18" Wide
Tapered)




Footrest and Legrest Accessories
Heel Loops and Attaching Hardware

Footplate
Type

Heel Loop w/
Ankle Strap
Single # Rt.

Heel Loop w/
Ankle Strap
Single # Lt.

Heel Loop w/
Ankle Strap
Pair #

Heel Loop
Single #

Heel Loop
Pair #

Attaching
Hardware
Pair #

Composite
(1651)
Large
18-20" Wide
(20" Wide
Tapered)

1017621 1035917-NLA | 1035932-NLA | 1035933-NLA 1035930

1035931

Standard
Aluminum
(1650)
16-20" Wide

1017621 1035917-NLA 1035919 1035920 1035918

1035907

Deluxe
Aluminum
(1450)
16-20" Wide

1017621 1035917-NLA 1035919 1035920 1035918

1086112-NLA

Extra Large
Aluminum
(1350)
16-20" Wide

1017621 1035917-NLA 1035919 1035920 1035918

1055241

Heel Loop Attaching Hardware

Part Number

1035931

Kit Includes:
(2) Screw, Phillips Pan Head

(1/4-20 x 2-1/4")

(2) Spacer
(1/4 x 11/32 x 1-3/4")
(2) Hex Nut w/ Nylon Cap (1/4-20)
(2) Flat Washer
(1/4 x 5/8 x 1/16")

1055241

Kit Includes:
2 ea. Screw, Phillips Pan Head (1/4-20 x 2-1/4")
2 ea. Spacer (1/4 x 11/32 x 1-3/4")
2 ea. Locknut (1/4-20)

Toe Loops




Footrest and Legrest Accessories

Toe Loops
Toe Loops Toe Loop Toe Loop Iﬁg?dcvr\]/;:r%
(1345) Single # Pair # Pair #
All Sizes 04572X025 1037087 1037089




Footrest and Legrest Accessories
Toe Loop Attaching Hardware

Part Number

1037089

Kit Includes:
(2) Screw, Phillips Pan Head (10-32 x 7/8")
(2) Washer (1/4 x 3/4 x 3/32")
(2) Locknut (10-32)




